5
| Time: 10 Minutes | Paper Math 6 (T-1) | Total Marks: 10 |

| 1st Month, 3rd Week, Sth Day | Unit # 1: Factors and Multiples |

Q.1. Choose the correct options. (0.5x 6=3) -/ /';«l‘f:'llf.,«lﬁc/u
(i) What s the value of "S" on number line. S f U "S" /o7

S
< | | | L5
N I ] I 7
-10 -5 0 10
[ () S [ O ) O
(ii) What is the value of "P" on number line? ?‘LQEQ(J"P"{'JU/:‘
P
I I N N N N
S rrrrT
-3 0 3 6 9
@ % Jol 5 o o _J@ 9 ]

A

(iii) What are the values of W and U on number line respectively?
W U o3 P
T LIS UnWe g 2

-12 -6 0 12 18

@] 6,-18 [b)| -6,-18 [(© -18,6 [@]| -18,-6 |

(iv) Identify the corresponding point to the integer on the number line.
(R

“T T T T T T ’-q/?)’”&'g:ewméz’eﬁgcﬂ/
-5 -1 0 1 3 5

@ =5 (& 5 @ 3 @ -3 |

(v) What is the opposite integers of 89? ?‘gkcﬁé:_éjl?( 89

@ 90 [ 8 J© -89 J@ +79 |

e L GIEE 53

(vi) What is the opposite integers of —53?

@) -53 ] +50 J@] 53 J@] -51 |
Q.2. On what number do all the alphabet stands for? (1x2=2)

T X
SR N T I T N S O A A A
DL I T I B I P sl L E 0
50 51 \%

Q.3. Write the opposite for the following integers. (1x2=2)
(i) -92 (i) 430  (iii) 0 (iv) -93 _uf’@x_z!l?éméjj;'@»
Q.4.Draw number line and represent the following points on it. .
(1x3=3)  _byunbbt st kst
(1) 0,-8,6,3,—-11 and 13 (11)3, 8, 5,-11, -5 and -7
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